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1 Ram Ltd. company is considering to purchase a new 14
machine. The expenses of this project is Rs. 5,00,000. Scrap
value is Nil. useful life is 5 years. Tax rate 1is 50%. The
company adopt SLM for depreciation. Cash flow from
investment is as follows

Year Cash flow

(Before Dep. and tax)
1,00,000
1,10,000
1,40,000
1,50,000

5 2,50,000

Decide profitibility of company by following methods and

explain your opinion. Discount factor is 10%

(1) Pay-Back method

(2) Net Present value

(3) Average Rate of Return

(4) Profitability Index.

e DD

OR
1 (a) Explain concept of capital Budgeting and describe 7
procedure of capital budgeting.
(b) Explain any two techniques of evaluating capital 7

Budgeting with examples.

2 Net operating Income of the company 7,00,000. Its total 14
investment Rs. 50,00,000. In following three positions, compute
cost of capital and market value of company according to the
traditional method. And give your opinion about debt's

proportion.
Particular Rate of Equity Proportion of
capitalization Debts
n Does not Include debts 10 % -
@) With Debts 11 % 6 % debenture
of Rs. 18,00,000
3) Increasing Debts 16 % 8 % debenture of
Rs. 25,00,000

OR
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2 (a) Explain Net Income Approach with its assumption 7
and example.

(b Explain M.M. Approach in detail with example. 7
3  The following is the Balance sheet of Shivdutt Ltd. as on 14
31-3-14
Liabilities Rs. | Assets Rs.
5% 7,00,000 Pref. Freehold Property
Shares of Rs. 10 each 70,00,000 | (Cost Rs. 36,00,000) 31,00,000
5,00,000 Equity shares Leasehold property
of Rs. 10 each 50,00,000 | (Cost 1,00,000) 90,000
Share Premium 9,60,000 | Plant
Profit & Loss Alc. 52.40,000 | (Cost Rs. 12,40,000) 6,40,000
Taxation Reserve 28,00,000 | Investment
Creditors 76,40,000 { Quoted shares
Bank O.D. 2,00,000 | (Market value : 10,00,000 2,00,000
Pavable to subsidiary co. 5,60,000 | Trade Investments 8,00,000
Unclaimed Dividend 10,000 | Unguoted shares 4,00,000
Pref Share Dividend 20,000 | Shares of subsidiary
Equity share Dividend 6,60,000 | company 16,00,000
Provision for Taxation Current Assets
(for current year) 10,80,000 | Stock 38,40,000
Debtors 30,00,000
Cash on hand and in
Bank 4,00,600
Due from subsidiary
Company 80,00,000
Loans and advances :
Bills Receivable 35,00,000
Prepaid Expenses 5,00,000
Preliminary Expenses 1,00,000
3.11,70,000 3,11,70,000

Additional Information :
(1) Additions to the balances of the original costs of
assets necessary to convert to replacement costs

Freehold Property ........cccooeennnn. 20,00,000 Rs.
Leasehold Property .......ocooooviiiiinnnn. 80,000 Rs.
Plant ..., 6,00,000 Rs.

(2) Shares held in subsidiary companies are currently
valued at Rs. 20,00,000.

(3) Trade investments are valved at Rs. 9,60,000 and
unquoted investments at Rs. 6,00,000. The quoted
investments are not connected with the normal operations
of the company.

(4) Increase in value of raw materials contained in stocks
figure is Rs. 8,00,000 and obsolete components included
in stocks Rs. 20,000 to be written off.
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Goodwill of 1,60,000 Rs. represents the extra amount
paid for a company which has how gone into liquidation.
The patents and trade marks have a market value of
Rs. 6,00,000 which is conservative estimate of the price
which could be obtained if they were sold.

The profit for the year is Rs. 60,00,000.

Additional depreciation based on the new replacement
costs is as follows :

Free hold Property ............. 1,00,000 Rs.
Leasehold Property .................. 8,000 Rs.
Plant ... 60,000 Rs.

Patents and trade marks...... 60,000 Rs.

Legal costs of an exceptional nature deducted in arriving

at the profit for the year is Rs. 60,000. Interest on Bank

0.D. is Rs. 10,000.

Surplus obtained from the favourable movement of

foreign exchange included in the profit for the year

Rs. 80,000.

Sales made in previous year amount to Rs. 20,00,000

on which the estimated profit is Rs. 2,20,000. This figure

has been included in the current year's profit. On the

other hand, profit on completed contracts not yet brought

into the accounts amounts to Rs. 1,20,000.

Goodwill written off in the current Year's amounts is

Rs. 40,000.

Loss on sale of machinery debited to current year's

Profit and Loss Alc. is Rs. 10,000.

Income from quoted investments included in the profit

for the year amounts to Rs. 1,00,000.

Find out :

(1) Gross capital Employed and Net Capital Employed.

(2) Profit computation for Management Planing and
control.

(3) Return on Capital Employed.

(4) Return on Net Capital Employed.

OR

Explain Due-Pont Chart.
Explain Significance of Return on capital Employed.

7
7

4  Draw out cash budget of Raj Trading Co. Ltd. for April to 14
June 2015 from the following Information.

(1)
(2)
NA-3313]
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Actual Budgeted
January 2015 1,40,000 | April 2015 1,40,000
February 2015 1,50,000 | May 2015 1,60,000
March 2015 1,30,000 | June 2015 1,30,000

(3) Purchases : Actual and budgeted :

Actual Budged
January 2015 70,000 | April 2015 70,000
February 2015 80,000 | May 2015 90,000
March 2015 70,000 | June 2015 70,000

(4) Wages and Expenses - Actual and budgeted

Actual
Wages | Expenses
February 2015 22.000 10,000
March 2015 16,000 12,000
Budgeted
Wages | Expenses
April 2015 20,000 12,000
May 2015 25,000 14,000
June 2015 16,000 14,000

Additional Information :
(1) Machinery purchased for Rs. 50,000 in April 2015.
(2) Income tax paid for Rs. 40,000 in May 2015.
(3) Rent Rs. 700 payable each month, not
included in expenses.
(4) 80% of purchases and sale are on credit terms.
(5) Time lag :

Credit sales 2 months, Wages 1/2 months
Credit purchases 1 months Expenses 1/4 months
OR
Explain methods of preparing cash budget. 14
Explain meaning of uniform costing and describe its 14
advantages and limitations.
OR
Describe advantages and limitations of Inter-firm 14
comparison.
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